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Section : General Knowledge

Q.1 3eeITe YERdT, AR @, Ufed e weRT, Ufea I worr 9y 3R wdiu o
FrafafEa & | few ame 93 & ulig aes §2

Ans 1 qadl
X 2.gam™m
X 3.99dr
X 4.9cH

Question ID : 264330144043
Option 11D : 264330564435
Option 2 ID : 264330564437
Option 3 ID : 264330564436
Option 4 ID : 264330564438
Status : Answered
Chosen Option : 2

Q.2 3T AWip B 6T ugfa # Iaures Fal &1 wyiie, fdue ik giias a=f o
BT T 872

Ans X 1. 3{afRI¥ IUNTH
o 2. TG IUTH
< 3. 31T IUNH
X 4.9 IUTH

Question ID : 264330112469
Option 1 ID : 264330441964
Option 2 ID : 264330441961
Option 3 ID : 264330441962
Option 4 ID : 264330441963
Status : Answered
Chosen Option : 2

Q.3 Which Indian state has the world's longest highway tunnel (as of July 2023)?
Ans X 1. West Bengal

# 2. Himachal Pradesh
5 3. Gujarat
5 4. Rajasthan

Question ID : 264330182957

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330717561
264330717560
264330717563
264330717562
Answered

2




Q4 Profafea § B 1867 § RITG e GURATE THIS W1 T @ W 781 82

Ans

o 1. S0 TR fade
X 2. 3R, Sl YSRHR

X 3. Tifa< IS
X 4. MHARM Uigd
Question ID : 264330130561
Option 1 1D : 264330511355
Option 2 ID : 264330511356
Option 3 ID : 264330511357
Option 4 ID : 264330511358
Status : Answered
Chosen Option : 4
Q.5 According to Census 2011, which union territory has the highest male literacy rate?
Ans X 1. Delhi
/< 2. Daman & Diu
" 3. Lakshadweep
#5 4. Puducherry
Question ID : 264330132748
Option 1 ID : 264330520089
Option 2 ID : 264330520088
Option 3 ID : 264330520087
Option 4 ID : 264330520090
Status : Answered
Chosen Option : 3
Q.6 Which of the following Schedules of the Constitution of India have immunity from
Judicial Review?
Ans 5 q 4ih
x 2.6"
% 3,10t
o 4.9
Question ID : 264330130477
Option 11D : 264330511022
Option 2 ID : 264330511019
Option 3 ID : 264330511021
Option 4 ID : 264330511020
Status : Answered
Chosen Option : 4
Q.7 The Mahabodhi Temple is in which of these states?
Ans X 1. Uttar Pradesh
¥ 2. Bihar
#5 3. Chhattisgarh
75 4. Madhya Pradesh
Question ID : 264330109315
Option 1 ID : 264330429539
Option 2 ID : 264330429540
Option 3 ID : 264330429537
Option 4 ID : 264330429538
Status : Answered
Chosen Option : 2




Q.8 Which of the following statements about cell is correct?
Ans X 1. Bacterial cell contains cellulose.

#5 2. Powerhouse of a cell is plastid.
4 3. Cell is a functional unit of life.

#5 4. Cell membrane of a cell is hard and rigid.

Chosen Option :

Question ID : 264330120944
Option 1 ID : 264330473992
Option 2 ID : 264330473993
Option 3 ID : 264330473994
Option 4 ID : 264330473991
Status : Answered
Chosen Option : 3
Q.9 Which of the following is an example of double displacement reaction?
Ans X 1.2Pb(NO3), (s) + Heat — 2PbO (s) + 4NO, (g) + O, (g)
&K 2.Zn0O+C—>+Zn+CO
X 3. Fe(s) + CuSO, (aq) — FeSO, (aq) + Cu (s)
" 4. Na,SO4 (aq) + BaCl, (aq) — BaSOy (s) + 2NaCl (aq)
Question ID : 264330182936
Option 1 ID : 264330717479
Option 2 ID : 264330717478
Option 3 ID : 264330717476
Option 4 ID : 264330717477
Status : Answered
Chosen Option : 4
Q.10 Which part of our body is responsible for digestion?
Ans X 1.Kidney
& 2. Hands
«# 3. Gastric glands
& 4. Heart
Question ID : 264330118271
Option 11D : 264330464901
Option 2 ID : 264330464899
Option 3 ID : 264330464900
Option 4 ID : 264330464902
Status : Answered
Chosen Option : 3
Q.11 Which of the following is the darkest, or least reflective object in the Solar System with
an albedo of 0.03?
Ans X 1.9P/Tempel 1
5 2. 2P/Encke
" 3. 1P/Halley
/5 4. 19P/Borrelly
Question ID : 264330114167
Option 1 ID : 264330448755
Option 2 ID : 264330448754
Option 3 ID : 264330448756
Option 4 ID : 264330448753
Status : Not Answered




Q.12 The voting age was reduced from 21 years to 18 years by the

Constitutional

Amendment Act of 1988.
Ans X' 1 515t
o 2.615
X 3.715t
X 4. 415t
Question ID : 264330130432
Option 1 ID : 264330510840
Option 2 ID : 264330510841
Option 3 ID : 264330510842
Option 4 ID : 264330510839
Status : Answered
Chosen Option : 3
Q.13 Which of the following players won the Major Dhyan Chand Khel Ratna Award in
Hockey in 20217
Ans  «* 1. PR Sreejesh
#5 2. Lovlina Borgohain
5 3. Sumit Antil
/5 4. Ravi Kumar Dahiya
Question ID : 264330176744
Option 11D : 264330693193
Option 2 ID : 264330693191
Option 3 ID : 264330693194
Option 4 ID : 264330693192
Status : Not Answered
Chosen Option : --
Q.14 fafifed & d S1H-91 g9 Ted 82
Ans 1 R daasia dem-TRIe gersh dea
X 2. 9yT Ueadifa dreT - HiY e
X 3. 758 teadfa 4 3 NS
X 4. T daafg ieHT - SR deT
Question ID : 264330131566
Option 1 ID : 264330515370
Option 2 ID : 264330515367
Option 3 ID : 264330515368
Option 4 ID : 264330515369
Status : Answered
Chosen Option : 3
Q.15 gATETEIE P T TR gRaor gRT forf@d sftera fea W & 82
Ans X 1 HRH
o 2. TP d
& 3. UPpd
X 4. Trcl
Question ID : 264330130541
Option 1 ID : 264330511277
Option 2 ID : 264330511275
Option 3 ID : 264330511276
Option 4 ID : 264330511278
Status : Answered
Chosen Option : 3




Q.16 What percentage of people were below the poverty line in India in 2011-2012 as per the
Economic Survey 2013-14, released by the Ministry of Finance, Government of India?

Ans X 1.124%

o 2.21.9%
& 3.10.2%
X 4.18.7%
Question ID : 264330179282
Option 1 ID : 264330703132
Option 2 ID : 264330703134
Option 3 ID : 264330703131
Option 4 ID : 264330703133
Status : Answered
Chosen Option : 2
Q.17 fgfafEa A & a8 $19 g ! I U7 R 1398 B e & 3RS ¥ YR UR 3MHHYT fHar
Ur?
Ans X 1. YEed il
o 2. TR T
X 3. EH
&K 4.7gd dH
Question ID : 264330182710
Option 11D : 264330716613
Option 2 ID : 264330716614
Option 3 ID : 264330716612
Option 4 ID : 264330716611
Status : Answered
Chosen Option : 2
Q.18 fgferfEa & | F9-91 AP, gl F a1 T HIS U 82
Ans X' 1 guAY Hed
o 2. gaadl Hed
X 3.dUHsd
X 4. giydsa
Question ID : 264330131740
Option 1 ID : 264330516060
Option 2 ID : 264330516062
Option 3 ID : 264330516061
Option 4 ID : 264330516059
Status : Answered
Chosen Option : 4
Q.19 In the context of external debt, what do ECBs stands for?
Ans X 1. Essential Commercial Borrowings
#5 2. Essential Common Borrowings
4" 3. External Commercial Borrowings
#5 4. External Common Borrowings
Question ID : 264330109395
Option 11D : 264330429858
Option 2 ID : 264330429857
Option 3 ID : 264330429860
Option 4 ID : 264330429859
Status : Answered
Chosen Option : 3




Q.20 Srimanta Sankar Dev is associated with which of these dance forms?

Ans X 1. Odissi
Z5 2. Manipuri
o 3. Sattriya
& 4. Kathak
Question ID : 264330109302
Option 1 ID : 264330429486
Option 2 ID : 264330429488
Option 3 ID : 264330429487
Option 4 ID : 264330429485
Status : Answered
Chosen Option : 1
Q.21 BT IEY, Aee? BIR 3d9 SIHAT (SUH) TSI & d6d TRUES a8l | et
TERY Y STaTgS Aareil Aled R e U S8
Ans X 1. JTEIOT 3T TS
F REICEICISEISE]
X 3. T 3TaTy A
o 4. TP TR STSiifaeT A= (NULM)
Question ID : 264330182975
Option 1 1D : 264330717634
Option 2 ID : 264330717632
Option 3 ID : 264330717635
Option 4 ID : 264330717633
Status : Answered
Chosen Option : 3

Q.22 YRHT YIS TIET (GSI) FT RITIAT 1851 F GBI U A ¥ fore wrgen
YSR oA 3g 31 78 &t
Ans X 1. SUE & Fafd HA
X 2. 9gst uikagd
o 3.30d
X 4. s Hia
Question ID : 264330181231
Option 1 ID : 264330710847
Option 2 ID : 264330710848
Option 3 ID : 264330710850
Option 4 ID : 264330710849
Status : Answered
Chosen Option : 3
Q.23 gy Rigre & A & 7RIER ¥ wfsd Rigrad a1 FRT iR fomam T
Ans X 1. 3NE
X 2.5
X 3. 3R
o 4. XMESRI
Question ID : 264330114844
Option 1 ID : 264330451464
Option 2 ID : 264330451461
Option 3 ID : 264330451462
Option 4 ID : 264330451463
Status : Answered
Chosen Option : 4




Q.24 Prafifld § § S0 A Proftwwor ) aerar 3 22
A. fafed=r
B. MICHIRIT
C. RE@HR
Ans  p1 HATASRB
X 2. AR CaA
X 39f-AB3RC
X 4. FadA

Question ID : 264330109136
Option 1 1D : 264330428822
Option 2 ID : 264330428821
Option 3 ID : 264330428824
Option 4 ID : 264330428823
Status : Answered
Chosen Option : 2

Q.25 YR WU & fra o ¥ S § ¥ s a1 feeiiie v & vde wRe
T R T a B T&T BT 7T BT MU B2

Ans X 1. 3J%¢G 51
X 2. 3¢ 47
X 3.3 ®™¢ 45
o 4. 3G 49

Question ID : 264330183152
Option 1 ID : 264330718343
Option 2 1D : 264330718341
Option 3 ID : 264330718340
Option 4 ID : 264330718342
Status : Answered
Chosen Option : 1

Q.26 YR F Tfey™ # FafafEd & ¥ F-d faRvdr YR IeR afufoas, 1935 A <t 1€ 82
Ans X' 1. 3UTASHTE & GRIF A SHTABRI BT e

o 2. T ST
X 3.9 & I TeAl B Ugad 9o
X 4. U P U

Question ID : 264330133047
Option 1 1D : 264330521241
Option 2 ID : 264330521240
Option 3 ID : 264330521242
Option 4 ID : 264330521239
Status : Answered
Chosen Option : 2




Q.27 Under the LERMS system, what percentage of foreign exchange earnings can be

converted at the official rate?

Ans X 1.35
o 2.40
X 3.25
X 4.20
Question ID : 264330109419
Option 1 ID : 264330429955
Option 2 ID : 264330429956
Option 3 ID : 264330429954
Option 4 ID : 264330429953
Status : Not Answered
Chosen Option : --
Q.28 fAgferfaa A | fry f¥ardt &1 Gy aaarReamsh (fencing) | 872
Ans o 1 LU Yo <t
X 2. Faolid BR fl
X 3. e et
X 4. Rme™
Question ID : 264330118893
Option 1 ID : 264330466227
Option 2 ID : 264330466230
Option 3 ID : 264330466228
Option 4 ID : 264330466229
Status : Not Answered
Chosen Option : --
Q.29 In which of the following years was the Telangana Legislative Assembly established?
Ans X 1.2012
& 2.2013
" 3.2014
X 4.2010
Question ID : 26433086857
Option 1 ID : 264330341070
Option 2 ID : 264330341071
Option 3 ID : 264330341072
Option 4 ID : 264330341069
Status : Answered
Chosen Option : 3
Q.30 In a cricket match, the number of balls in an over is
Ans X 1.5
X 2.7
o 3.6
X 4.8
Question ID : 264330132558
Option 1 ID : 264330519327
Option 2 ID : 264330519329
Option 3 ID : 264330519328
Option 4 ID : 264330519330
Status : Answered
Chosen Option : 3




Q.31 Which of the following Indian states is known for its extensive tea plantations?

Ans X 1.Rajasthan
" 2. Assam
/5 3. Punjab
/5 4. Gujarat
Question ID : 264330183057
Option 11D : 264330717962
Option 2 ID : 264330717963
Option 3 ID : 264330717960
Option 4 ID : 264330717961
Status : Answered
Chosen Option : 2
Q.32 9 TP ST fauiiora =151 g1 78 gt B, o Sud Tt & srafis faarfa ok favega
gfeea W g g &1 39 7T BEd 2
Ans X 1. BIEsifed
X 2. safea
o 3. P
X 4. oggfer
Question ID : 264330134881
Option 1 ID : 264330528462
Option 2 ID : 264330528460
Option 3 ID : 264330528461
Option 4 ID : 264330528459
Status : Answered
Chosen Option : 1
Q.33 YR 3 & fr rgwde ® ug I ? % wha gr1 Isuura #1 & € "
fooaft +ff —amaTery & Wi A1) @Y Sy
Ans X 1.3 ®¢ 167
X 2. 3T 161
X 3. 3 T=¢ 168
o 4. \313353 163
Question ID : 264330178908
Option 1 ID : 264330701637
Option 2 ID : 264330701636
Option 3 ID : 264330701638
Option 4 ID : 264330701635
Status : Answered
Chosen Option : 1
Q.34 With which Indian classical dance form is Sujata Mohapatra associated?
Ans X 1.Bharatanatyam
o 2. Odissi
#5 3. Sattriya
& 4. Kathak
Question ID : 264330132402
Option 1 ID : 264330518705
Option 2 ID : 264330518704
Option 3 ID : 264330518703
Option 4 ID : 264330518706
Status : Answered
Chosen Option : 2




Q.35 Karaikudi R Mani is India's renowned player of the
Ans X 1.santoor

«# 2. mridangam

& 3. violin
& 4. sitar
Question ID : 264330113241
Option 1 1D : 264330445051
Option 2 ID : 264330445052
Option 3 ID : 264330445050
Option 4 ID : 264330445049
Status : Not Answered
Chosen Option : --
Q.36 Makar Dhwaja Darogha was honoured with the Padma Shri for which form of dance?
Ans 4 1. Chhau
& 2. Kalbelia
X 3. Mohiniattam
X 4. Kathak
Question ID : 26433074885
Option 1 ID : 264330293630
Option 2 ID : 264330293629
Option 3 ID : 264330293631
Option 4 ID : 264330293628
Status : Not Answered
Chosen Option : --
Q.37 Cricketer Ravi Shastri represented the team in the Ranji Trophy tournament.
Ans X 1. Calcutta
X 2. Karnataka
< 3. Delhi
o 4. Mumbai
Question ID : 264330118477
Option 1 ID : 264330465312
Option 2 ID : 264330465310
Option 3 ID : 264330465309
Option 4 ID : 264330465311
Status : Answered
Chosen Option : 4




Q.38 fAsiieur & orf & Hay # fFgferiad wu= ) AR &1
(i) TTaSIE &7 & ITHI P WG BT eVl el 85 & IR Y T BT
(ii) ATdSIE &5 & ITHT b UG BT gXAaRYI feil & F I B AT
T SR BT AT B |

X 1. %99 () I T
X 2. (i) 3R (i) I 3T &
X 3.() 3R (i) ST Ta &

Ans

o 4. I (i) T §
Question ID : 264330116557
Option 1 ID : 264330458313
Option 2 ID : 264330458316
Option 3 ID : 264330458315
Option 4 ID : 264330458314
Status : Answered
Chosen Option : 4
Q.39 TSl WAt A fFT I W 331 819 =d (India Home Rule) TRITSE Ft RATAT 3,
ot 3fSar s Wik 3fSaret frav=IA (India House for India’s liberation) & FTH & ST
AT 82
Ans X 1. dfcH
X 2. ¥Ry
o 3. 701
X 4.0R9
Question ID : 264330120302
Option 11D : 264330471462
Option 2 ID : 264330471461
Option 3 ID : 264330471460
Option 4 ID : 264330471459
Status : Answered
Chosen Option : 1
Q.40 Which liberal Viceroy enacted local self-government for municipalities and repealed
the unpopular Vernacular Press Act of 18787
Ans 4 1. Lord Ripon
5 2. Lord llbert
5 3. Lord Dufferin
< 4. Lord Lytton
Question ID : 264330120151
Option 1 ID : 264330470860
Option 2 ID : 264330470859
Option 3 ID : 264330470862
Option 4 1D : 264330470861
Status : Answered

Chosen Option

1




Q.41

%@Wﬁmﬁﬁmﬁ?ﬂﬁﬁ?mwﬁﬁﬁ?m%m

Ans X 1. fa=iTeier™
X 2. Uardd
& 3. 197 SR
o 4. DT
Question ID : 264330111853
Option 1 1D : 264330439497
Option 2 ID : 264330439500
Option 3 ID : 264330439499
Option 4 ID : 264330439498
Status : Answered
Chosen Option : 4
Q.42 Jwfy fram a@w 3 f5a UHR & T & forg af 1998 & st ywor e fosam a2
Ans X 1. YD
2.5
X 3. FYUHat
& 4. WRaead
Question ID : 26433074874
Option 1 ID : 264330293585
Option 2 ID : 264330293586
Option 3 ID : 264330293587
Option 4 1D : 264330293584
Status : Answered
Chosen Option : 3
Q.43 frafafed # @ fra dfaur dxiua sifufaw & ag wraur fear mar ¢ & @t amfiet
& geprI Tfufeat 1fdd $37 &1 Hifere ifier grm?
Ans X' 1. g9ai w=NeH SiffaH
X 2. 99t TN siffaw
X 3. 91ai T=neA siftfaw
o 4. 97T TR Iy
Question ID : 264330180868
Option 1 ID : 264330709438
Option 2 ID : 264330709436
Option 3 ID : 264330709437
Option 4 ID : 264330709435
Status : Not Answered
Chosen Option : --




Q.44 After MK Gandhi’s returning to India in 1915, who among the following advised him to

Ans

travel around India to know the land and its people?
4" 1. Gopal Krishna Gokhale

#5 2. Chittaranjan Das
< 3. Bipin Chandra Pal
#< 4. Bal Gangadhar Tilak

Question ID : 264330119018
Option 1 1D : 264330466730
Option 2 ID : 264330466729
Option 3 ID : 264330466727
Option 4 ID : 264330466728
Status : Answered
Chosen Option : 1
Q.45 T BT | BIfeTG gRT fiafad Ie g &1 99 Ser! IR ST s Fafafaa § 9
BT UT?
Ans X 1.3gd9H
X 2. faopud=ht
X 3. PURIHT
o 4. RIS I
Question ID : 264330120241
Option 1 ID : 264330471221
Option 2 ID : 264330471219
Option 3 ID : 264330471220
Option 4 ID : 264330471222
Status : Answered
Chosen Option : 3
Q.46 ggftR YRd ¥, 3819 3 UER B g 9Td 31 Fast Bt wlt urkufve a=myur 3iv yuemy
T U g B GolT B F 1T T 3 SR8 W HA1d &1 TR & Ugd S
Ans X 1. SiquET
X 2. SFed Jar
X 3. MR
o 4. ACHT B
Question ID : 264330141779
Option 1 ID : 264330555437
Option 2 ID : 264330555438
Option 3 ID : 264330555435
Option 4 ID : 264330555436
Status : Not Answered

Chosen Option :




Ans

X 1. Pl SRS siftp iR
2. 3 oiftp Fefepm

Q.47 ;Ra%?qa‘wmﬁﬁu’fﬁﬁw, 3TE.F. ToRTa A Frafifad & & S0 srarsyr Rt
?

X 3.7 TR
X 4. frfdm it
Question ID : 26433055362
Option 1 ID : 264330216435
Option 2 ID : 264330216432
Option 3 ID : 264330216433
Option 4 ID : 264330216434
Status : Not Answered
Chosen Option : --
Q.48 Who is the writer of the famous autobiography ‘The Story of My Life’?
Ans " 1. Helen Keller
< 2. Steve Jobs
< 3. Anne Frank
5 4. Mahatma Gandhi
Question ID : 26433071468
Option 1 ID : 264330280297
Option 2 ID : 264330280299
Option 3 ID : 264330280296
Option 4 ID : 264330280298
Status : Answered
Chosen Option : 3
Q.49 g1 3myfd F Fufafaa Surl & & 5w Iur &1 wue & o fifes TaeEr & o ot
ST ST 872
Ans X 1.M1
&K 2. M4
& 3.M2
o 4. M3
Question ID : 264330116502
Option 1 ID : 264330458093
Option 2 ID : 264330458096
Option 3 ID : 264330458094
Option 4 ID : 264330458095
Status : Not Answered
Chosen Option : --
Q.50 Bihu festival is majorly celebrated in which of these states?
Ans X 1.Goa
X 2. Maharashtra
¥ 3. Assam
< 4. Kerala
Question ID : 264330109307
Option 1 ID : 264330429505
Option 2 ID : 264330429506
Option 3 ID : 264330429508
Option 4 ID : 264330429507
Status : Answered
Chosen Option : 3




Section : Reasoning

Q.1 Select the set in which the numbers are related in the same way as are the numbers of

the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking

down the numbers into its constituent digits. E.g., 13 — Operations on 13 such as

adding/deleting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3

and then performing mathematical operations on 1 and 3 is not allowed)

(13, 5, 87)
(17, 6, 115)
Ans X 1.(21,7,153)
X 2.(9,4,6)

X 3.(29, 9, 207)
o 4.(25,8,171)

Question ID

Option 2 ID

Option 4 ID

: 26433052103
Option 11D :

264330203716

1264330203714
Option 31D :

264330203717

: 264330203715
Status :
Chosen Option :

Answered
4




Q.2 Which of the following option figures will complete the pattern in the figure given
below?

Option 2 ID

Option 4 ID

Chosen Option

Question ID :
Option 11D :

26433080606
264330316358

1 264330316357
Option 31D :

264330316360

1264330316359
Status :
14

Answered




Q.3 Select the correct mirror image of the given combination when the mirror is placed at

Ans

MN as shown below.

M

Fc7q4d4kn
N
xrudbdbyzo3
x242\V philn
xendpVUpod
v«alPpVoi

Question ID : 264330116999

Option 11D : 264330460077

Option 2 ID : 264330460080

Option 3 ID : 264330460079

Option 4 ID : 264330460078

Status : Answered
Chosen Option : 4
Q.4 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
65*81*9*10*8*8
Ans X 1.++-x=
K 2. ++-x=
,,‘f 3.++—-=x
X 4. +—-+x=
Question ID : 26433085716

Option 11D : 264330336565

Option 2 ID : 264330336568

Option 3 ID : 264330336566

Option 4 ID : 264330336567

Status : Answered
Chosen Option : 3




Q.5 Which figure should replace the g

uestion mark (?) if the series were to be continued?

S S
A X 2 AT 2
P O E O
Ans 2
xto 7 T
T a
7
x2|1 E T
0o 2
7
Y3t 8§ T
A
X440 s T
A E

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330130816
264330512377
264330512378
264330512376
264330512375
Answered

4




Q.6 Select the figure from the options that can replace the question mark (?) and
complete the given pattern.

Ans

A D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433082914
264330325492
264330325489
264330325491
264330325490
Answered

1




Q.7 Select the figure from among the given options that can replace the question mark

(?) in the following series.
T O
R E
N VIV NN
E 5|8 RIK
Ans 0
R
K1
4 N
W S
@
O
X 2.
" B
S W
U
]
3 |y
w S
@
x S
4.
N O
e R

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433090949
264330357208
264330357207
264330357206
264330357205
Answered

4




Q.8 Select the correct mirror image of the given combination when the mirror is placed at
'MN' as shown below.

TR\

Ans b:L h
P
JTHL

ol Ik

Question ID : 264330130764
Option 1 ID : 264330512168
Option 2 ID : 264330512170
Option 3 ID : 264330512167
Option 4 ID : 264330512169
Status : Answered
Chosen Option : 2
Q.9 Select the option that represents the letters that, when sequentially placed from left to
right in the blanks below, will complete the letter series.
D_P_UDN_T___PTUD__TU
Ans X 1. TNUPDNNP
5 2. NTUPNDPN
< 3. TNPUNDPN
o 4. NTPUDNNP
Question ID : 26433095980
Option 1 ID : 264330376689
Option 2 ID : 264330376690
Option 3 ID : 264330376692
Option 4 ID : 264330376691
Status : Answered
Chosen Option : 4




Q.10 Six letters, J, K, L, M, N and O, are written on the different faces of a dice. Two
positions of this dice are shown in the given figure. Find the letter on the face opposite

to M.
Ans X 1.L
« 2.K
X 3.0
& 4.N
Question ID : 264330106170
Option 1 ID : 264330416984
Option 2 ID : 264330416982
Option 3 ID : 264330416981
Option 4 ID : 264330416983
Status : Answered
Chosen Option : 2
Q.11 Six persons U, V, W, X, Y, Z are sitting in a circle facing each other. V is between X and
W. U is between Y and W. Z is to the immediate right of X. Who is the immediate
neighbour of both U and Z?
Ans X 1.V
X 2w
X 3.X
W4y
Question ID : 26433086248
Option 1 ID : 264330338686
Option 2 ID : 264330338687
Option 3 ID : 264330338688
Option 4 ID : 264330338685
Status : Answered
Chosen Option : 4




Q.12 The sequence of folding a piece of paper and the manner in which the folded paper

Ans

is cut is shown in the following figures. How would this paper look when

unfolded?

:
:
>

O
X1.O
O

O

9
2C)
Y lo
L)

O
?(3.0
O

)

£
X4O
1O
O

—3 /3 ]
3 ' o —

o odl o ol [0o oD |©GO OO

1
—F—
Hel®;
;

[ E—

]
1
4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433074799
264330293284
264330293286
264330293287
264330293285
Answered

2




Q13 Which of the following option figures will complete the pattern in the figure given
below?

Ans \

Question ID :
Option 1 ID
Option 2 ID :
Option 3 ID
Option 4 ID :

Status

26433089625

1 264330352004

264330352003

1 264330352001

264330352002

: Answered
Chosen Option :

4




Q.14 A square sheet of paper is folded along the dotted line successively along the
directions shown and is then punched in the last. How would the paper look when
unfolded?

Ans
° °
x 1.
° »
x 2.
® ®
°
3 | e ®
°
x4 .

Question ID : 264330172153
Option 11D : 264330675187
Option 2 ID : 264330675190
Option 3 ID : 264330675189
Option 4 ID : 264330675188
Status : Answered
Chosen Option : 3




Q.15 Select the number from among the given options that can replace the question mark

(?) in the following series.

30, 45, 75, 135, 255, ?

Ans o 1.495
X 2.634
& 3.430
&~ 4.568
Question ID : 264330109756
Option 1 ID : 264330431301
Option 2 ID : 264330431304
Option 3 ID : 264330431302
Option 4 ID : 264330431303
Status : Answered
Chosen Option : 1
Q.16 Which two signs should be interchanged to make the given equation correct?
16 +4+20%82-14=148
Ans X 1.=and x
&K 2. +and -
" 3. +and x
X 4. +and =
Question ID : 26433085733
Option 11D : 264330336636
Option 2 ID : 264330336633
Option 3 ID : 264330336634
Option 4 ID : 264330336635
Status : Answered
Chosen Option : 3




Q.17 Select a figure from amongst the four given options which, when placed in the
blank space of figure (X), would complete the pattern.

X
Ans
X 1. %
a %
X 4. é
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

264330102216
264330401330

1264330401332

264330401331

1264330401329

Answered
2

Q.18 In a certain code, if 15-20-17-2-7-0-18-5 denotes PURCHASE and 14-17-3-4-18 denotes
ORDER, then what does 15-17-14-2-4-18-19 denote?

Ans X 1.ARRANGE
# 2. PACKETS
" 3. PROCESS
& 4. PROCEED

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330100890
264330396108
264330396107
264330396105
264330396106
Answered

3




Q.19  Select the option figure which is embedded in the given figure as its part (rotation is NOT allowed).

Ans

x 3.

X 4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433076729
264330300980
264330300982
264330300981
264330300983
Answered

1




Q.20 Given below is a series of figures — A, B, C and D which follow a particular pattern.

Which of the given option figures should come in place of E to continue the series?

B D 3 K
?
@ 8 a 2
(A) (B8) (C) (D) (E)
Ans
D
&1
A
C
X 2.
"4
D
X 3.
=
c
o 4
|
Question ID : 264330113643
Option 11D : 264330446657
Option 2 ID : 264330446659
Option 3 ID : 264330446660
Option 4 ID : 264330446658
Status : Answered
Chosen Option : 4
Q21 How many triangles are there in the given figure?
D
H N
I L
F A
Ans X 1.25
£ 2.19
K 3.1
414
Question ID : 26433080670
Option 11D : 264330316616
Option 2 ID : 264330316614
Option 3 ID : 264330316613
Option 4 ID : 264330316615
Status : Answered
Chosen Option : 3




Q.22 Select the option that is related to the fourth number in the same way as the first
number is related to the second number and the fifth number is related to the sixth

number.
311:1244 :: ? : 1760 :: 531 : 2124

Ans X 1.395
X 2.410
" 3. 440
&K 4.352
Question ID : 26433052017
Option 1 ID : 264330203370
Option 2 ID : 264330203371
Option 3 ID : 264330203372
Option 4 ID : 264330203373
Status : Answered
Chosen Option : 3
Q.23 A paper is folded and cut as shown below. How will it appear when unfolded?
é_ |
/!\ |
1 |
i |
Ans — =
- -
x 1. D D
9] @]
— -
el -
_} .Ev..
i Y o |
X 2 O 0
s S e |
=5 =
- =3
o o |
x 3. o O
o
L] £
=7y =
-2 —
= =
g4l O O
O O
- o,
> -
Question ID : 264330112987
Option 1 ID : 264330444033
Option 2 ID : 264330444035
Option 3 ID : 264330444034
Option 4 ID : 264330444036
Status : Answered
Chosen Option : 4




Q.24 Select the option that is related to the fifth letter-cluster in the same way as the second

letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.
INCH : EKAG :: INKS : EKIR :: IDOL : ?

Ans X 1.DAML
& 2. EANJ
« 3. EAMK
5 4. EANK
Question ID : 26433076457
Option 1 ID : 264330299892
Option 2 ID : 264330299894
Option 3 ID : 264330299893
Option 4 ID : 264330299895
Status : Answered
Chosen Option : 3
Q.25 Two statements are given followed by two conclusions numbered | and Il. Assuming
the statements to be true, even if they seem to be at variance from commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:
Some Baskets are Cakes.
Some Cakes are Tarts.
Conclusions:
|. Some Cakes are Baskets.
Il. Some Tarts are Cakes.
Ans X 1.0Only conclusion | follows.
#5 2. Only conclusion Il follows.
& 3. Neither conclusion | nor Il follows.
" 4. Both conclusions | and Il follow.
Question ID : 26433076605
Option 1 ID : 264330300484
Option 2 ID : 264330300485
Option 3 ID : 264330300487
Option 4 ID : 264330300486
Status : Answered
Chosen Option : 4
Section : Numerical Ability
Q.1 The radius of a sphere is 1.65 cm. Find the exact surface area (in cmz) of this sphere.
Ans X 1.10.79T
£ 2.1069
" 3.10.89
X 4.1099 1w
Question ID : 264330112559
Option 11D : 264330442322
Option 2 ID : 264330442321
Option 3 ID : 264330442324
Option 4 ID : 264330442323
Status : Answered
Chosen Option : 3




Q.2 The ratio of the number of boys to that of the girls in a school is 9 : 13. If the total
number of boys and girls in the school is 2134, what is the number of boys in that

school?
Ans X 1.855
X 2.891
< 3.882
" 4.873
Question ID : 264330131166
Option 1 ID : 264330513778
Option 2 ID : 264330513775
Option 3 ID : 264330513776
Option 4 ID : 264330513777
Status : Answered
Chosen Option : 4
Q.3 The price of a computer is ¥34,000. What will be the price of the computer (in ¥) after a
reduction of 17%?
Ans X 1.26,200
< 2.30,500
« 3.28,220
X 4.27,380
Question ID : 264330103465
Option 11D : 264330406168
Option 2 ID : 264330406166
Option 3 ID : 264330406165
Option 4 ID : 264330406167
Status : Answered
Chosen Option : 3
Q.4 The average height of 16 students of a group is 160 cm. If the average height of the
first 6 students in the group is 150 cm and those of the last 8 students is 165 cm, then
find the average height of the remaining two students, in cm.
Ans X 1.340
K 2.260
o 3.170
& 4.150
Question ID : 264330118041
Option 1 ID : 264330463979
Option 2 ID : 264330463980
Option 3 ID : 264330463981
Option 4 ID : 264330463982
Status : Answered
Chosen Option : 3




Q.5 The salaries of P and Q together amount to ¥4,32,000. P and Q spend 75% and 61% of

their salaries, respectively. If their savings are equal, then what is P’s salary?

Ans X 1.%2,36,750
& 2.%2,63,750
«" 3.32,63,250
X 4.32,36,250
Question ID : 264330177579
Option 1 ID : 264330696432
Option 2 ID : 264330696434
Option 3 ID : 264330696433
Option 4 ID : 264330696431
Status : Answered
Chosen Option : 3
Q.6 The simple interest on ¥24,000 at a certain rate of interest for 3 years is ¥7,200. What
will be the compound interest(compounded annually) on the same sum at the same
rate and for the same time?
Ans X 1.3%7,954
X 2.37,854
X 3.%7,845
o 4.37,944
Question ID : 264330104196
Option 1 ID : 264330409085
Option 2 ID : 264330409087
Option 3 ID : 264330409088
Option 4 ID : 264330409086
Status : Answered
Chosen Option : 4
Q.7 What is the difference between the total surface area and the curved area of a
: : , : : 22
hemisphere having a diameter of 14 cm? (Use T = ?)
Ans X 1180 cm?
X 2.108 cm?
o 3. 154 cm?
7 4.148 cm?
Question ID : 264330119368
Option 1 ID : 264330467762
Option 2 ID : 264330467759
Option 3 ID : 264330467761
Option 4 ID : 264330467760
Status : Answered
Chosen Option : 3




Q.8 A garrison of 1500 men has provisions for 12 days. How long will the provisions last if

the garrison is increased to 2000 men?

Ans X 1.12days
" 2.9 days
/5 3.10 days
& 4.6 days
Question ID : 264330182581
Option 1 ID : 264330716118
Option 2 ID : 264330716116
Option 3 ID : 264330716117
Option 4 ID : 264330716115
Status : Answered
Chosen Option : 2
Q.9 Which of the following numbers is greater than the sum of all the prime factors of
15607
Ans X 1.21
X 2.22
X 3.23
o 4. 41
Question ID : 264330109232
Option 1 ID : 264330429206
Option 2 ID : 264330429208
Option 3 ID : 264330429205
Option 4 ID : 264330429207
Status : Answered
Chosen Option : 4
Q.10 37 7 frT & 20% ATUROT TS TR 230,000 T H foraT| 98 4 99 & forg 1 af & sfa A
IR A Sl & s afgd B gem & e Teud gia1 31 gTaiie, e ue wrd waar
2 % 98 99 9% IUR <t T Y@ RN W TS Y TUMET BT 337, 9 a9 o TH T g
(YT HU1 THT T8I a7l YD = &) 4RI Fm ghft?
Ans X 1.%12,450
X 2.%11,500
o 3.313,500
< 4.%13,000
Question ID : 264330118086
Option 11D : 264330464160
Option 2 ID : 264330464162
Option 3 ID : 264330464159
Option 4 ID : 264330464161
Status : Answered
Chosen Option : 3




Q.11 Simplify (0.85 x 3.4 x 2.4) + 0.3.

Ans X 1.24.04
&~ 2.24.34
5 3.23.02
o 4.23.12
Question ID : 264330111443
Option 1 ID : 264330437857
Option 2 ID : 264330437858
Option 3 ID : 264330437859
Option 4 ID : 264330437860
Status : Answered
Chosen Option : 4
Q.12 The marked price of a table lamp is ¥1,500. If the marked price is 20% above the cost
price and the table lamp is sold at a discount of 10%, then find the profit percentage.
Ans X 1.7%
X 2.9%
o 3.8%
X 4.10%
Question ID : 264330123978
Option 1 ID : 264330485744
Option 2 ID : 264330485746
Option 3 ID : 264330485745
Option 4 ID : 264330485747
Status : Answered
Chosen Option : 3
Q.13 Aman bought two chairs for ¥1,800. He sold the first chair at a 12% profit and the
second one at a 20% profit. Had he sold the first chair at a 20% profit and the second
one at a 12% profit, he would have received ¥36 more. Find the difference between the
cost-price of the two chairs.
Ans ¥ 1.3450
X 2.%650
K 3.3525
& 4.%675
Question ID : 264330104406
Option 1 1D : 264330409925
Option 2 ID : 264330409928
Option 3 ID : 264330409927
Option 4 ID : 264330409926
Status : Answered

Chosen Option :

1




Q.14 The LCM of two numbers is 18 times their HCF. The sum of the LCM and HCF is 855. If
one number is 81, then what is the other number?

Ans X 1.458
o 2.450
X 3.440
X 4.448
Question ID : 264330104269
Option 1 ID : 264330409377
Option 2 ID : 264330409378
Option 3 ID : 264330409380
Option 4 ID : 264330409379
Status : Answered
Chosen Option : 2
Q.15 wTore U= TI3fhd | 7B d ATl 81 afe a8 4 km/h 3if¥w a1 | Fad! B, @ a8 FufRa
g A 3 fiFe ugd wpa ugHdt B, af 98 2 km/h S0 A1@ | Tad 8, @ a8 Fuifa wmg
F 2 fire a1 Tpa ugadt 81 3P W A Ipa B g (Km ¥) it 82
Ans X 1.4
K 2.3
&< 3.8
W 4.6
Question ID : 264330108985
Option 1 ID : 264330428217
Option 2 ID : 264330428220
Option 3 ID : 264330428219
Option 4 ID : 264330428218
Status : Answered
Chosen Option : 2
Section : Computer Proficiency
Q.1 Which of the following statements related to attaching a file to an email is correct?
Ans X 1.Writing a subject field is mandatory while sending an attachment.
5 2. We can't use CC field while sending an attachment.
5 3. We can’t attach an audio file in an email attachment.
" 4. In Gmail, If your file is greater than 25 MB, Gmail automatically adds a Google Drive
link in the email instead of including it as an attachment.
Question ID : 264330180383
Option 1 1D : 264330707501
Option 2 ID : 264330707500
Option 3 ID : 264330707499
Option 4 ID : 264330707502
Status : Answered
Chosen Option : 1




Q.2 THTH T3 365 (MS Word 365) & fAuferf@a & & frw faweu 9 oy f5eft stegiic &
%mg%ﬁ%m@ﬁﬁﬁﬂwwmﬁq NI 3R U e &1 sgpfea &
?

Ans X 1. SiFHc SWFRR

X 2. e qsme &g,
& 3. 09 Yea
X 4. AfRA T
Question ID : 264330173343
Option 11D : 264330679854
Option 2 ID : 264330679851
Option 3 ID : 264330679852
Option 4 ID : 264330679853
Status : Answered
Chosen Option : 3
Q.3 Which of the following is NOT a characteristic of communication on the internet?
Ans X 1.ltis asynchronous.
X 2. ltis interactive.
& 3. Itis global.
" 4. Itis always private.
Question ID : 264330178555
Option 1 ID : 264330700247
Option 2 ID : 264330700248
Option 3 ID : 264330700249
Option 4 ID : 264330700250
Status : Answered
Chosen Option : 2
Q.4 In MS Excel 365, if you set a row height to 0 (zero), what happens to the row?
Ans & 1.1t hides the row.
75 2. It asks for a new value.
5 3. It sets the default height.
& 4. It returns to the last entered value.
Question ID : 264330180632
Option 11D : 264330708497
Option 2 ID : 264330708495
Option 3 ID : 264330708496
Option 4 ID : 264330708498
Status : Answered
Chosen Option : 2
Q.5 In Microsoft Excel 365, which of the following functions is used for displaying the
current date?
Ans X 1.Time()
& 2. Now()
+«" 3. Today()
& 4. Day()
Question ID : 264330182058
Option 1 1D : 264330714072
Option 2 ID : 264330714071
Option 3 ID : 264330714073
Option 4 ID : 264330714074
Status : Answered
Chosen Option : 2




Q.6 In MS Excel 365,what is the keyboard shortcut to automatically adjust the width of a
column to fit the content in Excel?

Ans X 1.Ctrl+W
#5 2. Ctrl + Spacebar
X 3.Ctrl+A

o 4. ALT + H then O and then |

Question ID : 264330177664
Option 1 ID : 264330696771
Option 2 ID : 264330696774
Option 3 ID : 264330696772
Option 4 ID : 264330696773
Status : Answered
Chosen Option : 2
Q.7 When we press the control key with the letter E, what happens to the text in the MS-
Word 365?
Ans X 1.t selects the whole content on the file.
#5 2. Right aligns the contents on the page.
4 3. Centers the contents on the page.
/5 4. Left aligns the contents on the page.
Question ID : 264330171417
Option 11D : 264330672286
Option 2 ID : 264330672284
Option 3 ID : 264330672285
Option 4 ID : 264330672283
Status : Answered
Chosen Option : 3
Q.8 Which action in MS-Word 365, allows you to remove selected text from its original
location and place it on the clipboard?
Ans X 1.Copy
o 2. Cut
& 3. Paste
& 4. Select All
Question ID : 264330173355
Option 1 ID : 264330679900
Option 2 ID : 264330679899
Option 3 ID : 264330679901
Option 4 ID : 264330679902
Status : Answered
Chosen Option : 2
Q.9 Which of the following is the shortcut key to Paste text in MS Word 365?
Ans X 1. Ctrl+Shift+V
5 2. Shift+V
" 3. Ctrl+V
X 4. Ctrl+C
Question ID : 264330176727
Option 11D : 264330693125
Option 2 ID : 264330693126
Option 3 ID : 264330693123
Option 4 ID : 264330693124
Status : Answered
Chosen Option : 3




Q.10 Which of the following is NOT a common method of opening a document in a web-
based document editor like Google Docs?

Ans 1. Typing the entire document from scratch
/5 2. Creating a new document from a template
#5 3. Importing a document from a web link

< 4. Uploading the document from your computer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

264330180843
264330709336
264330709337
264330709338
264330709335
Answered

4
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